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Directions: for1 -6 :

In the following Questions, there is a relation-
ship between two figures on the left of the sign
(+). The same relationship exists between the
figures to the right of the sign (i) of which one is
missing. Find the missing cne from the alternatives.

1. ' Planet: Orbit :; Projectile; 7
1.  Trajectory 2, Airway
3. Milky way 4. Path

2, Trgonometry: Triangles :: Mensuration : ?
1. Geomeiry 2. Circles
3. Areas 4. Palygons
3. 9:8::16:7
1 27 2 125
3. 64 4 25
4 8:81::64.7
TR 12D L7 Mar
Sl ety 4. 625
5. KMF : LLH :: RMS : ?
Tt - SER 2. SLu
3. SsU 4, SUS
6. EVTG : H5QJ :: CXVE : ?
1. EVUF 2. FSUH
3. FUSH 4., FUTG

Directions: for 7 - 10 :

in the following questions, four items
(numbers [ number pairs / letter groups) are
given. Three of them are alike in a certain way
and one is different. Find the odd one out from
the alternatives.

g 1. 288 < 361
576 4. 168

L1110
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fFdor:1 -6 7% ;

fra ot A g () & a0 &R & o) ot
TS W | gE e R () @ Efe e
@ T uel o 8 e W e 9w ) R
foereal # 9 9@ 92 =@ P

1. TE : TE &5 - WEg : ?
1. WET 99 2. 9y AN
3,  HTEIE M 4. U9

2 Frerfafy - fren - a=fafr: 2
10 o S o

3. EETd 4, G
3. 9:8:16:7

1. Pl 2. 125

3 B4 4, 25
4 8:8164:7

1. 125 2. 137

3. 525 4, 625
5, KMF : LLH :: RMS : 7

1.  SLE 2.0 aLU

o SsU 4, SUS
6. EVTG : HSQJ :: CXVE : ?

1. EVLF 2. FSUH

3. FUSH 4. FUTG
P -7 — 10 9%

71 WAl 9 O e (HE/ W S/ HER R
) #) e F fF e wen 9 weE e
Tm e 8 R gy Reet # ¥ s ug st
e Bifurd |

7. 1. 289 2.7 381
s 576 4, 168

o
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8. 1. 48,134 40,110
3. 18,48 30, 80
9. S BB IFH
3. QNO YVA
10. 1.  BCYZ EFVW
3. HIUY ABZA

www.TrbTnpsc.com

B 1. 48,134 2. 40110
3. 18,48 4. 30,80
g, 1w “EBD 2. IFH
3. QNO 4, YVX
0. 1. BCYZ 2. EFVW
HILV 4. ABZA

Directions : for 11 - 14 :

In the following questions, numbers are written in
a sequence, Find the missing number, to replace
the question mark, from the given alternatives.

11. 19, 2, 38, 3, 114, 4, 7
1. 248 2. 238
3. J92 4, 456

12. 2, 6,8 18, 37, 7

e T 2. 9
3. T4 gi= T
13, 2,1,2,4,4,56,7,8,8,1011,7
Joeily 210
C el i 4. 12

14, 13, 32, 24, 43, 35, 7, 48, 65, 57, 76
1. 45 2, 92
3. 54 4, 55

Directions : for 156 - 17:

The following questions are based on letter
sequence. In each sequence, some letters are
missing. Find the correct allernative in each
question to fill the blanks.

15. S () o SRR o} o B
1. abbba 2. abbab
3., baabb 4 bbaba

211116

e - 11 — 14 OF

et vt o A U e H e m o R
gy femmeat ® ¥ 9 @ e o 9w Sifag =
T e @ Wi U9 S|

il 19, 2,38, 3,114, 4, 7
1. 228 2. 256
3. 352 4. 456

12. 2,5 9 18, 37, 7

1.0 16 ST,
3. T4 412
13. 2,1,2,44586,7,881011,7
1 2. 10
cp B b = 12

14, 13, 32, 24, 43, 35, 7, 46, 65, 57, 76
1. %45 2 52
3. 94 4, &5

frder: 15 — 17 % :

fe w9e o wad F A TR AT § |
ool AEA A Y R 99§ e w5
e @ ol we e o oo |

18, RN - 1 » - e T
1. abbba 2. abbab
3, baabb 4 bbaba

etd
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16, i T i T B R _ 16, il LR YIVEOG s
TF 2y xny 2. XYyyXy 108 YRRy 2. xLyyxy
3 yAAXY 4, yYXyyx 3. YAXAY 4, yxyyx
17. 5 ] i R 1 o P 17. [l e oty S g e
1._rrrs- 2O 1 Sifinrs 258 bhrsis
IS s 4. PnsinRn 3. Trsrs 47 ST

18, if the word MENTION is coded as 18 afe MENTION e & HooEs

LMEITND, how the word PATTERN will LNEITNG & =1 & PATTERN G
be coded? TestaT fear S
1. APTTREM 2. PTAETNR 1. APTTREM 7 PTAETNR
3. OTAETNR 4. OTAETRN 3. OTAETNR 4. OTAETRN

19.  If the word MONKEY is coded as 19, afe MONKEY 5 & Wiy
XDJMNL, how the word TIGER will be XDJMNL =7 &t 5 TIGER $¥ Hdbfa
coded? e Se
1. QDFHS 2, SDFHS 1. QDFHS 2. SDFHS
3 SHFDQ 4, UJHFS 4. SHFDAQ 4 UJHFS

20. If PALE is coded as 2134, EARTH is 20, afr PALE T & Wrbiis 3% 2134 B,
coded as 41590, then how PEARL will EARTH g & wiaifir® &% 41590 Bf o1
be coded? e PEARL #% Tafaa fmm wam?
1. 28530 2. 24153 1. 29530 2. 24153
3. 25413 4. 25430 3. 25413 4., 25430

21, If white is called blue, blue is called 21, aft @ww ® flar T 8 e T o
red. red is called yellow, yellow is Fea & o @ farTea & A @ a
called green, green is called black, e B BV 1 dror e § ol @ 9
black is called orange, then what will e & A g b R R G R
be the colour of human blood?
1 Red 2 Green A L
3.  Yellow 4, Blue & thT 4. el

22.  |f skyis called sea, seais called water, 22 afy s @ g TR0 & wgw W
water is called air, air is called cloud el BES ¥, o @ &7 TEd B, &g
and cloud is called river, then what do T Free wEd £ AR aRa ® TFE EE
1. Sky ol 1. R 2. T

s j

3.  Water 4 ea Ja s 4 TR

241410 E‘ o
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23, In a certain code language, the sen-
tences written in Column | are coded as
santences written in Column I, but the
sequence of words is different. Decode
the sentences and find which words in
coded language mean she and apple
raspectivaly.

-
n
L]
L]
i
[ ]
[
n
[
]
L]
i
[
]
[
L]
i
i
]
]
[]
i
]
|
T
i
[
1
i
i
1
1
i
i
i
]
i
]
N
]
]
]
U
U
]
L]
¥
@

Column I
kew xas humo deko

she is eating apples

| she sells toys kew deco qua

-

1
i
1
J
I
I
i
]
I
|
I
i
|
|
I
|

' | like apples sul lim deko
1. xas and deko 2. xas and kew
3. kew and deko 4. kew and xas

24, Pointing to a pholograph, a woman
said, "This man's son's sister is my
mother-in-law." How is the woman's
husband related to the man in the
photegraph?

1. Grandson 2. &on
3, Soninlaw 4. Nephew

Directions : for 25 - 29 :

Study the information given below and answer
the questions that follow:

There are six persons A, B, C, D, E and
F. C is the sister of F B is the brother of
E's husband. D is the father of A and
grandfather of F. There are two falhers,
three brothers and & mother in the

group.

25, Who is the mother?
1. A 2. B
i e ) 4 E

2110
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23, foel waber Wy 4, ofem | # ford M
qadl B wier 11 F o T At #
Wef fhar Tar 8, fw el @ we
foe1 & | arat @ Wad! ® 93 T she
e apple ¥t & Haa T P |

------------------------------------------------

Column | Column |

she is eating apples kew xas humo deko

kKew deco qua

' | llke apples sul lim deko

¥as 3 kew
kew 317 xas

1. xas 3% deko 2.
3.  kew 3% deko 4.

24, U wER W R fW T R W
AR A T, TE gEE ® 42 W 9E
T\ ¥ 9y At @ ofy @ 99
oW & ure T R 87
1. O /A 2 WPy

<IN d,:Tﬁ'IEIT

e : 25 — 29 9F :

A SV T SN W S BT IR AT
Tl 9 BiY |

ABCDETIFE gaey &/ C any
BFFBWERE® 9w D Ry
FATTIHNGTRTEF T} 77 8 7 oA
& o7 g & aiv vE W By

26, =9 W A B #7
a i 2.
320 4.

m o

44
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26. Who is E's husband?
1. B 2. C
3 A 4, F
27, How many male members are there in
the group?
1. Two 2.  Three
3. Four 4., Five
28, How is F related to E?
1. Uncle 2. Husband
3. Son 4,  Daughter
29, Which of the following s a group of
brothers?
1. - ABF 2. ABD
3 BFC 4, BDF
30. IF X oY means X iswifeof Y; X*Y

means X is son of ¥ and X % Y means
X is sister of ¥, which of the following
would mean that A is daughter of BY

1. A*C%DoB 2. AoC*'D%B
3. A%CoD*B 4. A%C"DoB

Directions : for 31 - 34 :

Study the information given below and answer
the questions that follow:

In a school, there were five teachers.
A and B were teaching Hindi and
English. C and B were teaching English
and Geography. D and A were teaching
Mathemalics and Hindi. E and B were

teaching History and Science.
31. Who among the teachers was teaching
the maximum number of subjects?
1. A s B
T 4, D
211110

5
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26. E @1 ufy o= &7
1. B Al ]
3, A 4 F
27. ¥ waw ¥ fasae qww #7
1, = 2. W
3 ¥R 4, UM
28, F @ E ¥ = fway 27
1,  wen/TrEn 20 i
3 N7 4 T
2, o= ferfaer 3 @19 w1 e wgal @1 27
1. ABF ' 2. ABD
3. BEE 4. BDF
30, g XoY o 3 8 X U=l &8 Y

XY B AT EX ST EY MIATXKRY
w3 8 X @ma 8 Y @ ar f R
Aammarcatn & fis A 5 & B 7
1. A*C%DoB 2. ApC*D%B
3. A%CoD*B 4. ABC*DoB

frdfer - 31 — 34 7% ¢
A €1 TE AFEN B ST Wit 3% I
WAl @ I airg |

v e 4 Wi areamaE e A T B
= Fur st gent & C oo B
sfaidt e o R gERl & D T A
more ey A=Y gawt ey E wem B
Fiowre aer e garnt &
3, T AU § W B WEY Ak iy
T &7 :
1A 2. B
b e 4 D

ool
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35.

36.

218110
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Which of the following were teaching
both Geography and Hindi?

1. AandB 2. BandC

3. CandA 4 B

Which subject of the following was
taught by more than two teachers?

1.  History 2. Hindi

3. Geography 4. Mathematics

D, B and A were teaching which of the
following subjects?

1. Mathematics and Hindi

Hindi only

English anly

Mathematics anly

L, b

A rat runs 20 m towards East and turns
to right, runs 10 m and turns to right,
runs & m and then turns to left, runs 5 m
and again lurns to left, runs 12 m and
finally turns to left and runs 6 m. Now
which direction is the rat facing?

1. East 2. \West
3. HNorth 4. South

Two buses start from opposite points on
a main road, 150 km apart. The first bus
runs for 25 km and takes a right turn
and then runs for 15 km. It then tums
left and runs for another 25 km and
takes the direction back to reach the
main road. In the mean while, the other
bus has run only 35 km along the main
road. What would be the distance

between the two buses?
1. B65km 2. rakm
3. 55Km 4, 60 km

6

33,

a5,
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&4 @ W owams 9 e T i
gt o e &2

1. AandB 2 ABand G
3 CandA 4. B

i O - R o O G e
HEATTE TGl &7

1. sfem 2. =0

3. 9 fHEE 4, 7oy

%1 5 T W vy D, B wer A
NEATTH TgT &7

1, Tfir mem =

2, fow fa=h

T i |

4. e mitr

T% HE gd @ 3 20 Hrew g € o
e 21§ TR ¥ 8 10 e dem
AR fore =g v qEa €, ¢ AWew dien
¥ ofR ad e qEw & 5 Aew S &
3% a1 avE Hedr & 12 ey e @
3 anfiae % a1E T gEa # oiR 6 Hiew
418 8| | gwE qE g fEEm 4 &7
15 ~0f 2 Oy

bR 4.  gf#ror

o 9 U6 Y@ HEe uY 150 fEAT
o6 W UH gHY B TG Foar § | sl
g9 25 [Pl o & 3 T 7S ol
g site 15 f5AL Tl 8 fm a8 =%
& & iR 25 Al gw & aik fise
T e Wi s B e ol &) e
B T F o5 &9 4 5 98 W 35
[ e O ) O - < O o 1
TR ST 27

1. 65 fsa, 2
3, 55 faa 4.

75 fEA
g0 541

-
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Directions : for 37 - 41 :

In each of the following questions, patterns of
circles are used to represent the relationship
among different items. Each circle represents
an item. Which of the patterns represent the
relationzhip among the items given in the follow-

www.Padasalai.Net

ing question?

37
38,
39,
40.
41.

42,

43.

211110

freer :
71 Sies We gl @ A At gl e
@l Fafta o mn 2 7% 90 T 98 W
ferafte wen &) wee ¥ @Y T o A Tl @
T |/ A i w87

©) (O
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r — 41 OF :

1 2 4
Women, Mothers, Widows 7. A, A, Ayan
Rhombus, Quadrilatarals, Polygons 38, HHEG, e, T8
Authors, Teachers, Men ag, o, OIS, TR
Judges, Thieves, Criminals 40, =refter. w, e
| o | 3
Sun, Planets, Earth 0 o, T8, o
Arrange the given words in the 42, f&d st ot == A wd | o
sequence in which they occur in the G | e o B = I R B

English dictionary and then choose the
commect sequence.

(a) Dissipate (b) Dissuade
(¢} Disseminate (d) Dissociate
(&) Dissect

1. scadhb 2, aechd
3. ceabd 4 caebd

In one of the following sequencas, two 43

letters have been skipped uniformly
between its adjacent letters. Identify the
Sequence.

1. MPSVYBE 2. QSVYZICF
3. SVZCGIN 4, ZCGKMFR

el fwey gl

(a) Dissipate (b) Dissuade
(c) Disseminate (d) Dissociate
(2) Dissect

1. ecadb 2, aecbhd
3. ceabd 4 caebd

frrfeftas st # 3 Rl o A =
o1 P! sert # s avfen &
FEW Bie 0§ 9 A @ uEEn
I |

1. MPSVYBE 2. QSVYZCF
3. SVZCGJN 4. ZCGKMPR

LL S g
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How many 5's are there in the following
sequence which are immediately fol-
lowed by 3 but not immediately preced-
ed by 77

BO95325385568733577
5365335738
1. One 2,
3. Three 4,

Two
Four

In the following sequence of numbers,
find out how many times 1, 3 and 7 have

appeared together, 7 being in the middle
and 1 and 3 on either side of 77

2873173771331 73857
1377173806
1.  Three -
3. Five 4,

Four
Maore than 5

in a school, the following codes were used
during physical exercise. 1 means ‘sfart
walking', 2 means ‘keep standing’, 3
means ‘start jumping’ and 4 means
sif down". How many tmes will a student
who performs the following sequence
without eror, from the beginning to the
end have fo sit down? _
123423144322124314
412

1. Six 8

Three
3. Four 4, i

Five

in a class of B0, where girls are twice
that of boys, Kamal ranked 17th from
the top. If there are 8 girls ahead of him,
how many boys are after him in rank?
1. Three 2. Seven

3. Tweive 4,  Twenty Two

8

43,

47.
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A B T o ¥ fred s 0 2 e
e 3 amn & ) a7 A amae
B96532530855808T733577
5365335738

1. UF 2. =
., = 4, HR

o #fe 5 S @R o wm i fweh
TN 1, 33N 7 5oed o € w7 my
AR 1w 3 7 B i o gr #7
2073173771331 73867
13771780808
1. 9= 2
a, Ty 4,

L 154
e | W

T fierem # TRINe Tam & dvm
frmr &8 W W@ w1 e fEn
oI B | 1 W e B wwEr gw e
2@ ad # WS WRD 3 T ol 2
BTG T T am & Jo
wige | U fEmi o s e f{E o
#H Far fimr e R mmm v

¢ gs @ o o = ol aw
123423144322124314
412

1. % 2. #F
3 ¥R 4 1M

e0 fenfifat o v = & o @efeat
o wE F9e! | ron &, FE W e
W} 17l e #) anw o wrRfRl auw

i & o fe F=e oww e 7
1, #@F 2 HE
1, TRE 4,  TAEw

Lk
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If *=* stands for addition, ‘+' stands for
subtraction, ‘+' stands for multiplication
and ‘-* for division, then

0= B+8-4+2=7

T8 e

3. 24 4, 18

If ‘+' stands for division, ‘=’ stands for
addition, ‘=' stands for multiplication
and ‘+' stands for subtraction then
which of the following equations Is
correct?

1. 3B=6+7+2-6=20
2. 3B+B+3x5-3=45
3. 3B+6-F3x5+3=24
4 SB-6+3x5+3=74

Directions: for 50 = 51 :

in the following guestions, which of the following
sign/signs on interchanging would make the
equations correct?

50.

al.

211110

2x3+8-12+4=17

1. =and+
2. +and-
3. +and+
4, —and+

12+2-6x3+8=16
+and +
- and -+
* and +
+and =

ot O

49,

www.TrbTnpsc.com

i x* Hr 3rf 8 A%, o @ oot &
HER, “+' 1 S § O T - @ el
£ AT, A

Wx 8+8-4+2=79

1. 80° 2. 25

3, 24 4. 18

g+ wr aef & arm oot wy anef £ W,
= 1 e ¥ Tom mem e w ook @
werd, @ e ) o w9 wle
o Wl #7

BxB+T+2-68=20
WB+B+3x5-3=45
36 +68-3=x5+3=24
3B-B+3x25+3=T74

Sy T

89 : 50 — 51 °F :
P gl 7 R0 2y Rowdt 4 & 29 9

fere /el & a7Ed 499 TR B 95 oY A7
50, 2x3+6_12+4=17

51,

1. =3+
2. +dw-
3. +aR=
L e

12=2-6x3+8=16
; %+

— R +
x FT +
—:mﬂ

LR

&g
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Directions : for 52 = 56 ;

The diagram given below shows the number of
students who got distinction in three subjects
Physics, Chemistry and Mathematics, out of a
class of 500 students. Study the diagram and
answer the quastions that follow.

www.TrbTnpsc.com

Frfar : 52 — 66w :

A o TS s, soo Renfit o s ¥ R
FH s & W AT Rea, wmre fEm o
GG B e A T B 2 Sl
ity et wet @ wew g

Physics

N2/

NS/

\Y

Chemistry

52. VWhat is the number of students who got
distinction in two subjects only?

1. 28 L I
3. 40 4. 27

53. What is the number of students who got
distinction?
¢ ot i 2, 139
3. - 180 4, 310

54, The number of students who got
distinction in Mathematics : :
1. 89 2. T8
3.4 <81 4. 50

o The number of students who got
distinction in one subject only, is:
1. 42 2. 47
G0 4. 139

56. ' The number of students who got dis-

tinction in Physics as well as
Mathematics, is:

Pl | P ]

3. 38 4. 40

CARRRL

Mathematics

52, et Rrel e @) &) Rt ¥ Wt g0
1. 128 2. 51
3. 40 4. 27

53, g T el et 20?
79 2539
3 a0 4, 30

54, foary faemell Tiftwr & el mw?
1. Bf 2. T8
3. 61 4. 50

55, fram el Soa 5 v fivg &

it &
1. 42 20 AT
3. 50 4. 1398

s6. oo femil #fos fsm mn ofte

2t % St g
log ey Lo ab
el 4, 40

LR
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Directions : for 57 — 59 : e : s7 — 59 O@ -

Find the missing character / number in each of &= f&y wemi 4 & §w aww / o o @)
the following questions:

417
D/ 1]BaN 3
I 11 N\2717 .7 g
O
1. 0 2 B 3. 1125 4, 216
58, 5 8 6 7 4 8
12 21 2
4 5 10
Y 14 pANEEY . S e 4, 320
A D H
50. F | H
7 N R
1 K 2 M 1 S =) 4 P
1110 11
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Directions : for 60 — 67 : frdwr : 60 — 67 % :
The five figures marked as A, B, C,Dand Ein  fivst s wes % wig ®iwfedi A, B, C, D oenl
the following questions follow a series. Selecta g o apfy 4 &) fav 7o farerdt 1, 2, 2 e 4

figure from the given altematives marked a8 1. & & o5 gmfa = affrd ) Ao @ sy g
2. 3 and 4 which will continue the same series. .

Y] [KIRIEIEE
60. A5 B N LTS
A B C D E 1 2 3 4
+ +] =+la=-+lA-+ |-A+A-+] OAA-+
61. = Q= O O o0 © O O0 @& =0 ©
ADelADeADS D@ L [ ] 0O 80 +|®
A B c D E 1 2 3 4
62,
e e D @6 e e
A B C D e 1 2 3 4
83. stellorlevi<«Tojtes loe] aprT|orT|o»|
: A -] c ] E 4 ] 3 1
& [ L] i
- [FELO O
L] [ ] ®
A B C D 1 gL - 3 4
P a2 T
A B c D 1 2 . i e |
— | — | g | fp— -+ o PR —=
B6. ‘ ~ — -i-—;. rr' :_‘:_-I- :_"
A B C D 1 2 3 4
+[+ A Fa¥ Fa
870 o lowt| "B .| O Q1 oREERREEO
FANEE 1 AV Ay V + |+ + +
A B C D 1 2 3 4
e 12 Bees
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Directions : for 68 - 70 :

In each of the following questions, some figures
are given in a sequence. Select a suitable figure
from the alternatives marked as 1, 2, 3 and 4
which will come in place of the question mark to
continue the sequence.

www.TrbTnpsc.com

frdw : e — 70 9% :
= vl | 3 el oE w A 9 T §
fdgrfiesi 1, 2 34 A A W e &
I 9% A1 Al 99 SR @1 A i o
9 WA B q9a

t |2

N

it il

il

it

A B C 1 4
x ' x X %
69, Eﬁnlﬂ:ﬂl ? GL'!.E IO0A IDOAIACDO DG‘E’
A B C D 1 2 3 4
Y T A S et N SN
0. #++*?+* +¢+n1++

T
w
o
o

Directions : for 71 - 73 ;

In the following questions, find the one (out of the
1, 2,3 and 4 options) that does not fit into the
series established by the seven figures given.

1 2 3 4

i 4 I 6 B & B
=1 9wt % 99 g (R T B 1, 2, 3
TN 4) BT TG @i w4 g W il
S A e el 8

T T ECETE O O
| i b [0 1 N [T e D e B
1 2 4

O Ol0 x|0 x|+ x|+ X|+ O|F+ O
; 1 2 4
0 e
: < IX | | X
1 2 4

HAN
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Directions : for 74 - 78 :

In aach of the following questions, there is
some relationship between the figures A and B,
Establish a similar relationship between C and D
by choosing a suitable figure from the answer
set 1, 2, 3 and 4 for the missing figure.

www.TrbTnpsc.com

frdwr : 74 — 76 ww

ey T v e A st A mr B @
e T e ) Ry C qen D o W ¥ i
HaY Hefe W @ fore oreT wE 4, 2, 3 o
4 H W I AGRY AT T W ol e ¥

o |E|

K[| 2

||

c D

and

L

75. m?c
76, /@

Directions : for 77 - 79 ;

In @ach of the following questions, four pairs of
figures are given. In three of them; the first
figure is related to the second figure in the same
manner. Find the odd pair out which is different

o
Q)| 2

c

1 2 3 4

LAhed e i

3 4

2
U0|B|©
2 3 4

Faer: 77 — 79 9% -

P el & o arely 91 Ry gu &) o @
HF ¥ TEell et el ammfy | ey d@n @
wafter &) o ampfy W B o @R @
T 9§ R

from others.
. | : |
174 [ NV VYl
) ol T | SR I v I R
1 2 3 4
| ¥ e —
78, 1 I IIA_ @ r.
o INEE
Y ] | ST © | B i |
2 3 4
>V
1 el o R | L 1 I
2 3 4
211110 14 e
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Directions : for 80 — 81 :

in each of the following questions, a problem fig-
ure is given. Study the figure carefully and then
answer the questions given under it.

a0, How many triangles are there?

www.TrbTnpsc.com

e : 80 — 81 T :

=1 sl A weE | UE e i 4 g #
HHR F WETT H AT @i iR S
i ol T wem @ e S

80, gaH fore B & 7

1. 16 & 8

81. How many rectangles are there?

81, e T amama £ 7

Directions : for B2 - 84 :
In each of the following questions, there is a fig-
ure X given to the left of vertical lines. Examine

the figures given in the alternatives 1, 2, 3 and 4
and find the one which is the exact mirror Image

3. 18 4, 20

o : 82 — B4 W :

wd iR Y @ A on e arsi X&)
faedt # & mf ammfot 1, 2, 3 W 4 @
e Wiy SR e S /6 g | e
TE VoAl B A #HR A T sl X gy

i Lo

S

of the figure X,
X

ARG

(x) 1

211110
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83.
{x) 1 2 3 4
Q g 0 o|o a ©
Bql —
() 1 2 3 4
Directions : for 85 - B6 ; e : a5 — ag 9% -

In each of the following questions, choose the
cormect water image of the figure X from
amongst the alternatives 1, 2, 3 and 4 given
along with it. The water source is shown below
the figure X.

F st d a1, 2 aaema 59

aemiv X 1 o H Wel ufoea g | i angf
X = ¥ 9iar T e

B5. Il !,:,ﬁ ) ;LF’
e 2 3 4

]

- QOO oE
Directions : for 87 : frder a7 & fay -

In the following question, find out in which of the
figures 1, 2, 3 and 4, Is the figure X embedded?

=1 g wee A wm oy R el X BT gg
Rl % ameRat 1, 2, 3 = 4 7 |/ e
wieer &7

87,

i

(X 1

Fninia

16
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Directions : for 88 — 89 :

In each of the following questions, figure X has
a part missing. Choose the altemnative which will

www.TrbTnpsc.com

Frdsr : Ba — 89 a% :
e weet # angfa x < 2 & R o s
@ &1 99 RFe & s e Wt e

complete the missing part. B 31 B
?.
{_ﬂ L | 2 3 d
89.
A R MR
() 1 F 3 4
80.  Adice is thrown four times and its four 80,  U® W (dice) ®N &R HHr Tar AR
different positions are shown below. o TRt A R S oo wh
Which number Is opposite 67 % 5 o R o9 W aiw #7
1. 1 2. 2 e g 4, 4
211110 17 shbe
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87
o
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4 S
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o ity oo
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;|
Ly
|
b
i
|__|' s

=1



www.Padasalai.Net www.TrbTnpsc.com

State Level Talent Search /
National Means cum Mernit

Scheolarship Scheme
Examination 2010

Scholastic Aptitude Test

STATE INSTITUTE OF EDUCATION
UT CHANDIGARH

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html



211110

www.Padasalai.Net

When copper is exposed to moist air for a

long time then a layer deposits on its surface

due to corrosion. The Colour of this layer is =
1. brown

2. green
3.  black
4

grey

Example of thermosetting plastic is —
1. PVGC

2. Bakelite

3. - Polythene

4. Al

A solution of oxide of an element tums blue

litmus to red. This oxide can be —

1. COy
2. NayO
3. Mgo
4.  ZnQ

Beaker 'A' containg CuS0, solution & zinc
pieces. Beaker 'B' contains ZnS0, solution
& copper pieces. Chemical reaction will take

place in —

1. Both the beakers 'A' and 'B°
2. Beaker ‘A

3. Beaker'B'

4. MNone

Sita took a piece of burning charcoal and
collected the gas evolved in a test tube.
The gas settled at the bottorm of the test
tube. Which of the following observations is
correct?

Gas evolved is acidic & heavier than air.
£, Gas evolved is basic & heavier than air.
3.  Gas evolved is basic & lighter than air.
4 (sas evolved is acldic & lighter than air.

p—"

www.TrbTnpsc.com

Y DAY D T TG T A9 ag H el
R OO & G 9 U% UH uvd WH ot
Bl 59 9Na ® 97 2 f —

1. 9
ST

3 I

4. el

YIS ST ST SE B —

o I 1 | -1

2 dFonc

3. UeriE

4 Tl

fodt e % aiTaEe @ Aads Ao oeAs
T WA TN ST B | 98 JigEEe & —
e

2. NayD

3. MgQO

4, ZnQ

i A H CuS0, &1 e o s & s
g1 4T B 1 ZnSO, 1 Rier e i &
e ¥ vt e Bnft —

1. =Ml fiw A o B

2 g AH '

3. Hme B'H

ER o e

Hiar - AEE F Fh T 0F Aadl g
geheT foran N TER Soafoly B el i

T Ueh SRRl 4 soal 3T | e W
& qe 9T 49 3 | e A Ty deelt A @
T W TEL B ?

1, SeHfvie A SR R AT W W
Fesifui i1 AN T AT o AN
goafeid 19 e e ag A gkl 2
Feafer i amia T ag W e d

S

-
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6. Coke can be obiained from coal by the 6  Fi% B DEd B W = @) @A 2 -

process of Bl 1.  HEAIEeT
;. E:fr‘l:r?msatlun 3 giemwoy
L 3. TG H wiew o
3. Buming in air
4.  Heating in the absence of air 4 Tl e a
7. On buming completely 2.5 Kg of a fuel 7. 2.5 Kg 959 9 99 =57 ¥ &rs00 KJ 951
produces &7500 KJ of heat energy. The T B2 | 95 1 o e
?alnn:; ;:!Dun:: uj::s fuel is — 1, 35,000 Kg/KJ
. i g
P 35,000 KJ/Kg 2. 35,000 KJ/Kg
3. 35.000 Kgil 3. 35,000 KghJ
4, 35,000 gl 4, 35,000 ghl

8. A non metal that catches fire at room & =8 R 9 TR ® o= =% oG 4 7H |

temperature is - Jodl § — |
1. Sodium 1. TifEmw
2.  Sulphur 5 Sl e
3.  PFhosphorus ; e
E T = ;
Pt 3. TGN
4. TR

9. Incomplete combustion of fuel produces o, &9 & af 69 § &% = 6/

.which gas/gases? G e
1. €0 1. CO
2. €O,
: 2 G
3. S0y ©:
4 3, 80
- Al
4, A

10.  When an ant bites It injects acidic liquid into 10 5% i Fredl 2 of 98 o= & Y 7Y

the skin. This acid is = T SOl & | OF o & —
1. Acetlc acid 1 w AT 4
2. Formic acid a i
3, Nitric Acld ' e
4.  Sulphurlc Acid = i
4, HEERE S
F1110 2 e
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11.  Consider the following statements - 1. Fr=fafen aemet = am 4 o -
a.  Burning of wood is a physical change. W EEe T Foe it uieE B
b.  Buming of wood is a chemical change. W FFE T Ao Wt gk &
c. Cutting of wood into pieces is a T <l : A
physical change. il St ? H
d. Culting of wood into pieces is a :
chemical change. U EHE T gHel A wewm W
Which of the following options is correct? i
2. bandc . HaRwg
3. candd 2. WaaRT
4. asndd 3 WIRY
4, TIHAR Y
12. Global warming is caused due to — 12 s oom @ o0 woed & -
1. COy 1.  COy
2. CHy 2. CH,
3.  Waler vapours 9 W aT
4, Al | )
4, T
13. Light year is a measurement of - 13. W o & Ay o & -
1. Time 1, Ry
2. Distance 2 T
4. Mass '
4. TEHAM

14. The impression of an image on retina 14. R ow o wfafm =en & a® s

persists for how long? fm wm W a=n T &7
;. ?:rlw . ¥ S fEg
L 1S second 2. 16 Awg
4.  1/18 minute
4. 116 fire
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The correct symbol for a battery with three
cells is —

{ s
2

3. |-

4. =|r]||4F

The best conductor of electricity is -
1.  Distilled water

2.  Tap water

3. Rain water

4, Sea water

The loudness of sound depends on its —
1.  Amplitude

2. Frequency

3. Time period

4, All

The speed of sound is maximum in -
1. Vaccum

2. Air

3. lron

4,  Water

Friction can be reduced by -

1. Qi

2. Graphite

3.  Powder

4. Al

The range of clinical thermometer is
generally -

1. 33°Cto42°C

2. M°Ctlad2°C

3. 35°Ciwd22C

4. 3IB°Ctod2?C

4

16

16.

17,

18,

18,

20,
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G B o1 1 o o M 3 e o 8
1. i

2. HHF

3. =HF=

4. k|Hr

Rgs &1 a9 res! @ee 2—

1. T W

2. 9 W T

I T ol

4 = Dl e

= P da e w ek o 2 2
1 o

2 amafy

3 SIEGEA

4, W

egf @ AT wEE aEe et el -
1. fafm

2 1y

3, e

4 o

1 33 Ciod2°C
2, 34°Clod2°C
3 3Cilod42°C
4 36°Ctod42°C
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Qne litre of waler at 50° C is mixed with one
litre of water at 20° C. The temperature of the

mixture will be -

1. TG
2. 50°C
3, 208G
4, Between 20°C and 50° C

Consider the following statements and

‘choose the correct one -

1. One thick blanket of 3 cm thickness

each will provide more warmth.

2.  Two blankets of 1.5 cm thickness each
joined together will provide more warmih.

4. Three blankets of 1cm thickness joined

tegether will provide more wammth,

4. All these blankets will provide same

warmth.

Erect image can be obtained by —
1. Concave lens
Plane mirror

2.
3. Convex mirror
4,

All

Thyroxine hormone secreted by thyroid

gland requires for its production.
1. lron

2. lodine

3. Calcium

4. Thorium

The gland which helps the body fo adjust to stress

when one is angry,embarmazsed or womied —

1. Thyroid
2 Pancreas
3. Ovary

4 Adrenal

5

21,

22,

3
[

285,
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5°CH TFH ohed od o 200C T TP
ollex o # e awn & | B @ oa
B -

1 70" C

2 B5O°C

3 200C

4,  20°C e 50°C & dmw

frrferfian et @1 aom @ of ofte o

W YA B =

1, UH 3 om WIET FEA HUE  FET
W& HET |

2 UF® GW UH 9§ 8 1.5 cm e
Cin o ) e s o e e

3 U & BW UF O o 1cmHRE
e FANE T uSE e |

4, Tl B TR T T TS E |

e ufafes faras) une faar o "ear 8-

1. FEGS &9
2. HEO guu
3, gee gUu
4 wft 9

5 | I o 1 e &
1.  amEe
2. I
3 Sifedaw
4. iRy

g Ul e, R T ST 9 o
H T B " @ e wwdt & -

1. omigE
2. ATV
3. sy
4. ufgaa

EL]
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The number of 'x' sex chromosomes in
human male is -

Bl
Al
ki o
4, 46

‘A dark funnel shaped cloud that reaches

from the sky to the ground is called —
1.  Tormnmado

2. Cyclone
3. Hurricane
4. Typhoon

Which of the following excrete uric acid in
semi solid form -

1. Birds
2. Insects
3. Lizards
4 All

The correct sequence of stages in the life
cycle of silk worm s -

1. Egg —=Pupa —= Larva —= Adult
2 Egg —Larva — Adult — Fupa
3. [Egg —=Larva —= Pupa —= Adult
4.  Adult—e=Larva —= Pupa —= Egg

Which of the following statements is correct?

1. Zygote and Embryo both are
unicellular.

2. Zygote and Embryo both are
multicellular.

3. Zygote is multicellular but Embryo
is unicellular.

4, Zygote is unicellular but Embryo is
multicellular.

27,

28,

30.
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UEg (R) # ' T @ e B i

1. 1

gh 2

3 23

4. 48

e T T HINTHR ATES W1 A o geE T
@ #i e € 9% FEe © -

1, BRI

2, H@Am

3. B

4,  TTEA

gl 9 w9 e g (B0 W) wo ¥
ot A W Feeer dwa § -

1,
2, e
<IN 71 G T
4. Tl

1 HET—FEET—!-HHI'_F-W
2. g —=EEl I 9
3. gl —=SE —= WO —= T
4 Eﬂﬁﬁ—h—ﬁﬂf—r@—h—&ﬁ'{

e B B 1 VO = e o O
1. TS 9 90 SF (S B B
T g g0 A dgbiits B f |

T dg@ii® & T 40 TP
T £

4 TETA [HENAE B WA HO
AgDID & |

LR
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Name of the cell in human blood that can

change its shape —
1. RBC
.2, WBC
3. Platelets
4 Mone

The camer of dengue virus is —
1. Female anopheles mosquito
2. Male anopheles mosquito

3. Male Aedes mosquito

4. Female Aedes mosquito

When iodine solution is added to boiled rice
which have been chewed then its colour —

1. becomes blue

2.  does not change
3. becomes red

4 becomes green

Symbiotic relationship is found in -

1. Lichen

2.  Rhizobium

3. Certain fungi

4 All

Example of Carbohydrate —
1. Starch

2. Cellulose

3. Both

4. None

How many wars were fought between the

state of Mysore and Company?
1, Two

2, Three

3. Four

4. Five

31.

23,

35.
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AE @ 60 H Uig W drel HIfesT @
GG e G B Ty e B T -

(O | = 1
2. ¥ FEf deenn &
3. o B ol &
4. =% 81 uman &

HEad] TR I W B -

1. WEEAH

2. wguiEad #

3, T Had A

4, T H
BT P TATE B —
1. HE

2 Heerd

3. &l

4. ®Ig Al

G e M (e e O O o M 0T
el Ty of ?

e

2. HF

< -

4 dwm

ik

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html



www.Padasalai.Net www.TrbTnpsc.com

37 'The Gaekward' -one of the distinct Maratha 37, “TiEETd'— U& 7ver ofRT & w9 H

powers that had emerged by the middle of e | T | = e e o R B (-1 B Bl o
18th Century were at; - 1. T
1. Poona o TR
2. Gwalior
3. MNagpur i ALl
4, Baroda 4, W
98 Who founded the Chola dynasty in the 38 @radl 7d) & ey waw A fowm e a9
deltaic region of River Kaveri? s
1.  \ijayalaya 1 frAarea
2. Rajaraja Ist 5 TSI T
3, Parantak 1st 3 HE W
4, Rajendra lst 4 woiE W
39, Who was the great scholar, accompanying 38 HEE T &\ e aren v e
‘Mahmud of Ghazni? iR |
1, Ali Rhazes 1, el Yol
2 Firdausi o freEr)
3. Ibn Batuta 3.  WEE
4 Al Biruni £ e ey
40. When did bhakti movement startin India ? 40, Wi Siiate A1 AwIAT ARG A T T 7
1 12th Century A.D 1, ged] Tl
g 13th Century A.D 2  HYEAl AT
3. 14th Century A.D a, wZed] el
4 16th Century A.D 4 e e
41, Renalssance began in — 41, O o THAR BR -
1. Germany 1. o
2. ltaly 2. geah #
3. France : i, WiE A
4. Holland 4,  ERIS A
42 \William Jones founded the following society = 42 faferam wiFe = & WRE! B - RRITGAT
in 1789 — 1780 H P — agayhy
1.  The Asiatic Society 1, gRmEfew HeEel
2. The Bombay Society o AT SEEe
3. The Indian Em:l:et.y 2 e wEEd
4. The Calcutta Society i ; :
211110 B ++

http://www.trbtnpsc.com/2014/02/nmms-exam-study-materials.html



43

48,

47.

48.

21110

www.Padasalai.Net

Mahadev Govind Ranade founded the -

1. Arya Samaj

2, Brahmo Samaj
3.  Prarthana Samaj
4.  Theosophical Society

The Quit India Movement was organised on —

1.  June, 1941
2. July, 1946
3. July, 1943
4.  August, 1842

Which of the following groups of highly
mobile peasant - pastoralists provided the

_backbone of the Maratha army?

i Kunbis
2. The Jats
3. Khalsa

4. The Ahoms

Whe founded the Hyderabad state in the
18th Century ?

1.  Sa'adat Khan

2. Asaf Jah

3. Murshid Quli Khan

4. Raja Jai Singh

In which year did Nadir Shah invaded and

conguerad Delhi 7

1. 1748

2. 17508

3, 1738

4, 1728

Lord Mahavira was the last of the
Tirthankaras of —

1.  Buddhism

2. Hinduism

3. Sikhism

4 Jalnism

43,

45,

48.

47,

G,
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AT 112 e 1 - O 0 i s o

1. 2md WA

2. HET HE

3, wreET e

4, femEieea waEd

TR BIE] AGle 36N &4 g9 7
1. T, 1941

2, O[T, 1946

3 . 1943

4, OTTET, 1042

= ferfamr ¥ 9 @¥s w1 i waaEm

RIET Wi @1 Vg o medl wifde gan?

1. o
2 e

3. e
4  IEM

FoTERd] Yaret ¥ e oy 3 R
T @17

1 waATGd W@l

2. HTHE WE

3. HAf¥f w0 =i

4. A w9 fHE

Aifaveme 5 | A § el w amsa

+¥
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Feudalism was centered around -

1.  Kingdoms

2. Land

‘3. Royalties

4,  Agriculture

Which of the following is the most abundant

mineral in the earth’s crust 7

1.  Phosphates

2.  Silicates

3, Sodium

4. Oxygen

Barysphere is the interior of the earth’s crust

confaining —

1. lron and nickel

2.  Silica and magnesium

3.  Silica and Alumina

4. Mone of these

Total mass of atmosphere (99%) s

concentrated within a height of —

1. 30km

2. 31 km

3. 32km

4. 33 km

The layer of atmosphere which helps in
. wireless communication is —

1.  Troposphere

‘2. Stratosphere

3. lonosphere

4, Mesosphere

Where are Mushroom rocks found ?

1. In River Valleys

2. In Deseris

3. In Glaciers

4, In Coastal Areas

2110

10

al.

0
e

53.
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THiaTe 9 4 59 W Biag a9
1. N

2. T

3, Y

4w

Frfaitas % & wuddy # aftieas A H 91
01 e 1 = s

1.  HHHT

fferas afty e
9 | B A T

TrgAe (99%) P SfEaH AR R S
& Hew fam &

o I e

1. 30 f&AL
2. 31 f&A
s, 3z L
4 33 faAL

JroFEd A% ORE u ) e A A
FEl B —

M Aea

2. HAOY HEd

3. 781 9gHEd

4, FEOREA

god I HEl 918 ol § °

1. e A
2. A A
3,
4.

T

fore #
TR TS A

i
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Warm ocean currents arise from near -
1. the Tropic of Cancer

2. the Poles

3. the Tropic of Capricon

4, the Equator

The moist air from the Arabian Sea is forced
by Sahyadn hills to rise up resulting in
cooling and rainfall. What Is this type of
rainfall called ?

Orographic rain
Frontal rain

| —
=

2
3, Convectional rain
4

none of these

The longest day in the northern hemisphere s -
1.  June 23

2. June 24
3. June 21
4. June 25

If the air ks saturated, its relative humidity s —
1. 75%

2, 80%
3. 90%
4.  100%

Which of the following is the largest
consumer of oil in the world 7

1. Russia
2. China
3 USA
4. Japan

The Purna, Wardha, Pranhita, Manjra &
Penganga are the tributaries of which river ?

1.  River Ganga
River Godavari

2
3. River Krishna
4

River Kaveri

11
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Where is Anthracite coal found In India ?
1.  Tamil Nadu

2. Orissa

3. West Bengal

4. Jammu and Kashmir

Parks, Ponds and Playgrounds are examples
of which of the following resources —

1.  Personal resources

2.  Potential resources
3. Community resources
4 Actual resources

Which one of the following is the oldest
atomic power plant?

1.  Tarapur

2. Kalpakkam
4. Marora

4. Kaiga

When did the first meeting of the constituent
Assembliy take place?

1. 161 August, 1947

‘2. 26WM January, 1948

3. 26t November, 1949

4. 9 December, 1946

Who calls the Joint sitting of the two houses 7
1.  The Prime Minister

The President

The Speaker

The Deputy Speaker

el

When and where was the first Lok Adalat held?
1. 1985 in Delhi

2. 1895 in Calcutta

3. 1985 in Chennai

4. 1984 in Delhi

12
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1, AN
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3. TN

4. I

ISR T 3 q5el dod o g5 off 7
1. 16 31T, 1947

2, 26 T9d, 1948

3. 26 TR, 1049

4. 9 fBew, 1946
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Both the centre and state can make laws on
the subjects mentioned in the -

union list

slate list

concurrent list

all of these

AW

.The fundamental duties have been included

in the constitution under the -

1.  Article 51
2.  Article 50
3. Article S0A
4,  Aricle 51A

Who is elected by the single transferable
vole systemn?

1.  The Prime Minister

2.  The President and the Vice-President

3. The Chief Justice of the Supreme
Court
4. The Election Commissioner

Which one of the following is justifiable?
1. Fundamental duties

2. Directive Principle of State Policy
3. Fundamental Rights
4, All of the above
Value of the expression
(1=-2)=B3=4)=(5-6)=(7=8)=(9-10)is -
1. 0
2. 3
3. 5
4 =5
13
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1. 0
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3. 5
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72. Value of (999)% is —

1. 988001
2. 888001
3. 798001
4. 988001

73. In the figure which is the largest side?

AB = AC = BC

74. [(=T2o)x(1728)'" =7

1. =972
2. 972
3. — 08
4. 108

75. If a*+hi+e? = gh+be+ca then the value of

a'+hielis -
1. 3abc
2. 3a'bict
3. 3Ja‘bc
4.  3{abe)’

76. |If diagonals of rhombus are 16 cm and 10 cm

then ils area is =

1. 40
2. &0
3. 1680
4, 80

21110
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(999)2 F1 ITHE B —
1. 988001
2. 898001
3. 7898001
4, 988001

sy # @ W e wean Al @7
A

i
58

635" 40P
YA

BC
AB
AC
AB = AC = BC

Aata b=

[(—=729)=(1728)]'° = ?

A - 872
2. a72
3. —108
4, 108

OfE @ +h et = ab+be+ea AT '+ bl T

TR & —

1. 3abc

2. da'het

3. 3Ja%c

4, 3(abc)

afy g wHgmde & fAwd 16 cm 3l
10 cm # o SHE Sawa # -
1. 40

2. 90

3. 160

4, 80
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The number of side of a regular polygon
having 24" as measure of an exterior
angle Is =

1. 7

2. 15
3. 10
4. 18

The area of a triangle with sides 10cm and
18cm and the perimeter 42cm is —

1. 9 ecm?

2. 2111 em?
3, 11421 em?
= 210 ¢cm?

The diameter of the moon s approximately
one fourth of the diameter of the earth. What
fraction of the volume of earth is the volume
of the moon?

1. 14

2 1/8
3. 1/84
4. 641

'The mean of the first five whole number is -

1.
2 2
3. 4
4. 35

The ages of Meera and Geeta are in the ratio
of 5:7. Four years from now the ratio of
their ages will be 3:4. The present age of
Geeta is -

20

28

24

18

15
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o % wgge B et qond o ft oft o
ST W W A 24° B ~

1 f e

2. 15

3. 10

4 18

rF e @ € qond 10cm 3fR 18cm
e T o 42em &) ¥9 Bogw w
g & -

90 ¢m?

211 em?

11¥21 em?
210 em?

i Ry

HEE O =W g @ | W @ 0%
wiurd &) w1 Ao gl & agee
T BA W e R 7

1. 14

2. 18

3.  1/64

4. BN

wer uie ot sl oAy § -

| Bt

2

a 4

4. 35

i AR T 27w Sy S 87

¥ o O ad ar S Ay w A
¥4 & A M o E g § -
1. 20

2. 28
3. 24
4. 18
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If the volume and surface area of a sphere are
numerically the (equal) then the radius of sphere is -
1. 4

2 3

e
3

4. 35

V=1331 xY/=74088 =7

2 252
2. =252
3. 462
4, -482

Exterior angle of a A ABC is 115” and
interior opposite angle is 35% . The measure

of angle £A is -
A

1152

cps

1
2.
3

4333

4,
A match box measures 4cm * 2. 5cm = 1.5 cm.

What will be the volume of a packet
containing 12 such boxes?

1. 100 em?
2. 180 em?
3. 120em?
4, 150 cm?

Area of a trapezium is 100 cm?. It's parallel
sides are 30 cm and 20 cm. The height of the
trapezium is -

1. 10cm

2. Bom
3. 6Bcm
4, 4cm

16
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o e W i AR g A e
w0 W W R oA e i Pow & -
32l
2. 48
A in
3
4. . 35
N=1331 x{/-T74088 =7
1. 252
2. -252
3. 462
4, -482

B[ w1 o afdestor 115%% € iR o
SR YT 35901 § | T ZAT A 8§ —

A
o 357 \E\ i3,
B
1.  80¢
2. A
3 80
4 L1

afere o fal ®1 MG dom o« 25em > LS em
1 W0 12 fafat % v G = amE
w1 B ?

1. 100 em?
2. 180 cm?
3. 120cm?
4, 150 cm?

F wHe W AEEd 100 cm? IWE
RO il W1 719 30 em 3R 20em #)

FamW e S # -
1. 10cm
2. Bom
3. Bem
4. 4cm
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If PQ| |RS #MX0Q = 1357 and #MYR = 40°
then the measure of ZXMY is -

p A 0
1350
M
400
R > 5
1. 40°
2. 45°
3. 85°
4, 1358°

Find the arithmetic mean —
X 5 6 7 8 21
FE o T Ry H s T 11y LSS
Y
2 16
3 17
4 7

Rajeev borrowed Rs. 12,000 at 6% per
annum simple interest for 2 year. Had he
borrowed this sum at 6% per annum
compound interest, what extra amount would

he have to pay ?
1 140.10

2. 4410

3. 43.20

4. 53.20

Kuldeep bought 2 tables for Rs. 1200 each.
He sold one at a loss of 5% and the other at
a profit of 10%. Find the total loss or profit 7

1. Rs. 60 Profit
Rs. 60 Loss

2.
3. Rs. 50 Profit
4

Rs. 50 Loss

17
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% PQ| |RS 2MXQ =135 3l LMYR=40°

& Tl ZXMY 31 TPFwE § -
P A Q
1350
M
400
R
¥ &5
1, 40°
2.  45°
e
4, 135°
HED F By —
X 4 5 5] 7 g 21
A | 2% 55 S W]
1. 51
2. 18
Qe AT
4. 7

WA H 12000 W 2 T B o 6% wiifs
T W MR Ee e Suw feg | i

B WE A 6% wiE 73X ¥ wnels =
T SR W gF s ar 9w R aftfe
<RI  FEE He ger 7

1. 14010

2. 4410

3. 4320

4. 53.20

Fered | B AF 1200 W 9 A W A
Wi O O W @ osv mifY el g
A B A0% A Y A A A s
B s #ifong ?

1. Rs. 6079
2. Rs. 60
3. Rs.50 @™
4, Rs. 50 @f

i
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